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NTSE STAGE-I(Paper-I) Grand Test

No. of Questions: 100

Max. Marks: 100

[All Questions carry Equal marks. No negative marking]

Directions (Q.No.1 — 10): In the
number series given below, one
number is missing. Each series is
followed by four alternatives (a),
(b), (c) and (d). Identify and indicate
it as per the '"instructions’'’.

l6,12,9,

a) 7 b)6 ¢)6.75
2. 21, 34,55, 89, 144,

a)l69 b) 213 ¢)223 d) 233
3. 225,100, 36,9, 1,

1. 21_

d)5

A)—7 b -6 0 d)-1
4. 2,15, 41, 80,

a) 111 b) 1206 ¢) 121 d) 132
5. 462, 420, 380, . 306

a) 322 b)332 ¢)342 d)352
6. 4,18, . 100, 180, 294

a)32 b)36 c)48 d)40
7. (11, 13), . (23, 29). (31,

37), (41, 43)

a) (13,17)  b) (19, 21)

©)(17,19)  d)(13, 18)

1 2 4 5
S F3y—99s
3 3
D 375 b)
1 1
2.3 d) 3

9. 0,10, 34, 78,

a) 135 b) 148

c) 156 d) 102
10. 1, 5, 15, 34, 65,

a) 111 b) 125

¢) 117 d) 126

Directions (Q.No.11-15): Corre-
ct the following equations by

interchanging the two signs.
11.3-9%x27+9+3=3

a) + and — b) x and +

c) X and = d) x and —
12.4x2+6+2-12=2

a) - and X b) + and —

c) X and + d) +and —
13.5x15+7-20+4="77

a) —and + b) x and +

c) +and = d) + and x
14. 16 -21 +7x 6+ 3 =31

a) —and + b) + and X

c) + and + d) + and x
15.51 +3x12-6+3=11

a) + and + b) — and +

c) X and + d) None of these

Directions(Q.No.16-20): Ques-

tions have become wrong due to
wrong order of signs. Choose the
correct order of signs from the four
alternatives given under each
question, so that the equation

becomes right.
16. 11 +2=1-10

a)—+= b) =+ -

c)—=+ d)+-=
17. 15+3=5x%x 50

a) =+ X b) x+ =

(c)x =+ d)+x=
18.93+7=13+113

a)=++ b)+=+

c)++= d) —=

epaper.sakshi.com

19.27x5=11-2
a) — X = b) =x —
C) X — = d) —=x
20. 72 +8 +12=21
a) =+ = b)=+ =+
c)=++ d+=+

Directions (Q.No.21 - 25):In the
figure below square represents

goods which are electronic,
rectangle represents televisions,
circle represents compulters,
triangle represents chargeable.
Electronic Computers
Televisions [4 5 11
I :
3] 304
5 [/ 7
'/ 12
Chargeable 7/_ 6 \\8\
21. How many computers are

chargeable which are electronic
but not television?
a) 1 b) 4 c)16 d)24

22. How many chargeable are neither
electronic nor computers?
a) 6 b) 7 c)13 d)19
23. How many televisions are
electronic and computers but not
chargeable?
a) 1 b) 3 c)4 d)9

24. How many chargeable are com-
puters but are neither electronic
nor televisions?

a) 7 b) 8 c) 11 d) 17
How many items are either elec-

tronics only or televisions only?
a) 3 b) 5 c)9 d)14

25.

Directions (Q.No.26 - 30): In
these questions, numbers are placed
in the figures on the basis of some
rules. One place is vacant, which is
indicated as''?'".Find out the
correct alternatives to replace the

'question mark (?)’.
{2"“

a)20 b)l8 ¢)16 d)14
27.
fﬁ‘* 5 4/% 6 5 /\
/ 25\ RN /35\, !
kY £ i) 4 k)
5 6 0
a) 30 b)36 c¢)24 d)28
12\38/30 1?0 361\F7
a) 18 b)l2
29. é é
a) 32 b) 44
c) 61 d) 53

Time: 120 min
30.
0
14 5% ?
THE 5
a) 11 b) 8 c)28 d) 18

Directions (Q.No.31 - 35):Each
of the following questions contains
a pair of terms on the left side of
(::), which exhibit a certain relatio-
nship between them. Find the term
which exhibits similar relations with
the word on the right side of (: :).
31. India: Parliament :: Japan:

a) People's House

b) Congress

c) Diet d) Bundestag
32. ECG : Heart :: EEG :

a) Nervous System

b) Brain

c) Bones d) Liver
33. Ford : USA :: Suzuki :

a) Japan b) Taipei

¢) China d) Korea
34. CAR : 88 :: BIKE :

a) 108 b)234 ¢) 188 d)27
35. AZBYCX :1::LOMNGT:

a) 1 b) 8 c)3 d) 5

Directions (Q.No.36-41): In ea-
ch of the following questions, four
sets of numbers or letters or words
are given. Three are similar in a
manner while one is different from
others. Identify the odd one out.

36. a) 394 b) 1591
c) 5236 d) 4348
37.a) 121 b) 236
c) 155 d) 248
38. a) EIMOP b) AEHJK
c) PTWYZ d) KORTU
39. a) ARE b) SEEN
c) SHEEP d) GRASP
40. a) Baht b)Euro
¢) Pound d) Mark
41. a)Airtel b) Vodafone
¢) Indicom d) IDEA

Directions (Q.No.42 - 46):The
letters in Column-I are coded in the

form of digits, which is written in the

Column-II. But the order of digits is
different. Identify correct code of

letters. Find out the correct
alternative for each question.
Column-I Column-II

BLO 369

EPL 279

PJT 175

JNS 018

NLB 309

RTJ 451

42. What will be the code of word
LIN?
a) 713 b)910 «¢)610 d) 817
43. What will be the code of word
BTS?
a) 431" b) 850 «¢)358 d) 258
44. What will be the code of word
REP?

a)437 b)671 «¢)527 d)427

45. What will be the code of word
OPS?
a) 678 b) 873 ¢) 708 d) 362
46. What will be the code of word
LBT?
a) 369 b) 935 ¢)529 d) 365
Directions (Q.No.47 - 49):The
Jfollowing questions are based on the
given matrix. The value of each
letter is the product of its row and

column number, e.g., the value of M
is2x3=6.

O[T 2[3]4
0B, O|J C|P
[[EN|[H[T|D
2 G R|A[M|V
3 FI S| T L] Z
IW X[ Y|U[K

47. Find the group of letters which

make the least total among the

alternatives.

a) DKA b) FHY

c) ODX d) VIM
48. What is the total of GREAT?

a) 8 b)10 ¢)12 d)14
49. Find the group of letters which

make the highest total among the

alternatives given.

a) PLOT b) PLAN

c) PLAY d) PLUS

In a certain code language, "Take

Both And Do Worship Of The

Goddess' 1s coded as 'And Both

Do Goddess Of Take The

Worship'. How will "'Then Why

Did You Not Do Your Study' be

coded using that logic?

a) Did Do Not Then Study Why
You Your

b) Do Did Not Study Then You
Your Why

¢) Did Do Not Study Then Why
You Your

d) Do Did Not Study Then Your
You Why

Directions (Q.No.51 - 52): Study

the following number series to

answer the given questions.

2,6,7,5,4,3,7,4,8,9,4,8,9,

4,3,2,5,4,7,9,8,6,8,7, 1, 2,

5,3,7,6,8,9, 3, 6.

how many 7's are there in the

series which are immediately pr-

eceded by an even number and

immediately followed by an odd

50.

51.

number?
a) 2 b) 4 c)3 d)5
52. How many such numbers are

there in the series which are imm-
ediately followed by its multiple?
a) 3 b) 4 c)5S d)l

If January 1% is a Friday, then
what is the first day of the month
of March in a leap year?

53.

a) Tuesday b) Wednesday
¢) Thursday d) Friday
54. In a row of boys, A is 20" from

left and B is 16" from right,
interchange their positions, then
A becomes 30" from left. How
many boys are there in the row?
a)46 b)d44 )45 d)48

55. In a queue, Suneeta is at the tenth

56.

57.

58.

59.

60.

61.

62.

11)d
16) a
21) a
26) a
31)c
36) d
41) b
46) b
51)c
56) d
61) b

place from front.Subhash is at
25% place from behind. Gargi is
standing at the central place
between Suneeta and Subhash.
There are 50 persons in the
queue. Then Gargi is standing at
which place from front ?

a)20 b)19 ¢)18 d)17
A has 18" rank in a class of 49
students. What is his rank from
the last?

a)l8 b)19 ¢)31 d)32
What is the difference between
the angle between the two hands
of a clock at 7:30 p.m. and at
9:30 p.m.?

a) 70° b) 60° ¢)50° d)45°
If the time shown by a clock is
2:24, then what time does its
mirror image show?

a)9:34 b) 9: 36
c)9:32 d) None of these
A compass was damaged and its
needle turned in such a manner
that the pointer which was
showing West is now showing
South. Raja went towards geo-
graphical East as per the above

compass. Actually in which
direction he is going?

a) East b) West

¢) North d) South

Rahul travels a distance of 100 m
towards South. Now, he turns left
and travels 75 m, and then travels
45 m towards North and finally
travels by turning 45° clockwise.
In which direction 1s he traveling now?
a) North-east b) South-east
¢) South-west d) North-west
My mother's father's wife's son's
only brother-in-law is A, whose
brother's sister's son is B. How is
B related to me?

a) Brother b) Cousin

c) Nephew d) Uncle
Pointing to a person in a photo-
graph, Naveen said to Murali, "He
is the father of your sister's only
sibling's wife and also he is my
wife's brother". How is Naveen's
wife related to Murali's wife?

a) Mother

b) Mother-in-law

¢) Aunt d) Niece

KEY

1)c
6)c

2)d
7)c
12) a
17) b
22) ¢
27) a
32) b
37)a
42) b
47) ¢
52) ¢
57) b
62) c

3)c

8) a
13) c
18) c
23) ¢
28) ¢
33)a
38) a
43) ¢
48) ¢
53) a
58) b

4Hd 5S)c

9 b 10)a
14)b 15)d
19)d 20)a
24)b 25)d
29)d 30)b
34)a 35)a
39)d 40)d
44)d 45)a
49)d 50)c
54)c 55 c
59)c 60) a

Quisee B3 ‘Diss'ess..



